100 25 B B 3L 8 S AR A PR L AWM EIRANEA R
FiRFA A
WAL EEZ [HRIEEH] XA
AEwEs (FE4ay) OO0

E

& |1 Z305R] 100 548
=

A

— ~ RUFE A T B B R EmE N T B R GEF 2 (20%)

— BB LA AN E BT 0 A BEUUER X IF 0 D BIES 3% 0 K AG= GF=

FE= 4m > BG= 3m > CF= 6m > DE= 9m > 3XKAZ4 BF &4 1 Ko < (20%)

= MERBAR —SHEMRIT A REUEE S T00 km/h B 4w 3L AT » hoik B HLR
Ele 2 50 km/h’ > B etk 4t 3 3 & o 64 S M0 B5 41 B U 5848 AT > F42 B 400
km > & R RSO HEBER] 0 B R R E A 600 km/h &3t > s wik B A 100

km/h’ @ > R SEEF A etk £ ResT B PARI4T B etk oy ik B ook B - (20%)



~EDM B R ey &R 32 R IB%H AT 2 (20%)

~ /\5 S5 = 1 %
¥raEAE 10 Kgsasa(Cu-Ni) & &sM » R®BAEZE D )3E 20,000 psi - Hid

% E A 60,000 psi AL smoOMEERFE A 20% 0 TG EE T ARG E 4L

S
(100%N1)Fo 1@ 7 64 Cu-20%N1 (4 20%N1 Fo 80%Cu) FmAEA K » KEFE T B LAk H

— B A ARG £ & B A2 - (20%)

80000 — 80
FRRE

60,000+ 2 deo
gﬁ A@ @-’3 %
B & % #
40,000 -2 Iy &

_HlRRE /
2000017 M“’”M ””‘“x:: 20
/M%ﬁﬁﬁ

Ca 20 40 60 80 N
KEBADIL



